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Caleulus 2 - Unit 10 Part 2 REVIEW

Find the Maclaurin series for the given function (use the elementary forms table):

D g()=r5
2) g() sin (2—x3)
3):g(x)=3+x2

» ertlng first 5 terms of a power expansion for the given function (use the elementarv forms table):
o f(x)= cos(3x ) '
. 5) f(x) = sin(4x—3)
Find the specified Maclaurm or Tavylor polynomial (for these you must use the definitions):
6) Flnd the n =5 Maclaurin polynomial for the function  f ( ) = sin (3x)

- 7 Fmd the n = 4 Taylor polynomial centered atc= =2 for the functlon f (x ) = ln (x )
| 8) Flnd the n=4 Maclaurm polynomial for the functlon ‘ f (x) xe

9y Flnd the n= 4 Taylor polynomial centered at c= 9 for the function f (.x ) = \/; |
10) Find the 7 =5 Maclaurin polynomlal for the functlon f ( ) e

11) Determme the degree of the Maclaurin polynomial centered at0 requlred to approx1mate (04) for

the tunctlon f ( ) = Sln( ) for the error to be less than 0. 0002

s B ga/ ) N ‘ o B .
: 12) Determme the degree of the-&mT polynomial centered at 1 required to approximate f (1;4;) for

|
{

.the functlon f ( ) In(x ) for the error to be less than 0. 0002. B

13) "';Determine the degree of the Maclaurin polynomial centered at 0 required to approximate f (0.7)’ for:
the function f (x) = ¢* for the error to be less than 0.0004. ' l

14) Find the interval of convergence of the series z ( 2 ) (con51der the endpoints).

. \' '. , C 4 1)n+1(‘x )

15) Fmd the 1nterva1 of convergence of the serles z

n=1

(cons1der the endpomts)

1)"+1 (x )n+l

16) Fmd the- 1nterva1 of convergence of the series Z ( (consider the endpoints).

«

R i
17) 1ff(x)=z.2‘z+
. n=1

~1_ find the interval of con.v.‘_erge,nce for (a) f(x) () f '(x) (0 j F(x)adx




